206

—4
X =z !
iva
°
0140
1.0 14
573
g 45-68 = =
6 88
6 62-78 >
1 T 5 2 1
°
o 154 7
5 12
1 < 1T

80
60
40
20
0
| | | | | |
1 1
1.27 -2 0.64
E
80 - 0% =
60 -
20 - 42 i
O l T T ﬁ T T 1 T 1
2&m 2 &m~ 3 &m~ 4 &Cm~ 5&m~ 6 Em~
3
6 94 4 362

9 52 2021




30 14 13 23 7 13 19 2 11 2 12
=
B5 Cm~
20 ! m4 @mn~
03 Gme~
10 ] O3 @m
O _J T T ﬁ T E T E T T ’:‘ T E T I:| / T
A B C D E F G H | J K
11
(o 22 0 )
o E5 @cm
e K3 @m 9 1~17
e K3 @m 7 1~3
e R4 @m 5 1~4
\_* &5&m 1 1 )
[ ]
Y] A
1.2 -
2!
1.0 | =
50 [ |
0.8 + 1 0O
0.6 L 1
0.4 | |0:50 0.50
4 0.08
2 b
- ° 0.15 0.05 ! 0.02
0.0 .
3 0cm 3 0cm~ 4 0Ocm~ 5 0cm~
£
e K4 &m |
e R3&m ~ H 1
e R3&m 1
£5 @m 50 1
18 1T 2.7 £50cm 135
\ 2.7 x50 j




AN R
12—
W5 Ocm~
0 J S N S
| m4 Ocm~
o RO e | R A
03 0cm~
o I O O | O A IO
03 0cm
4 4| ﬁ H ...............................
72 I O O I O O O I
- R0y .
3 4 5 6 7 8 9
(¢ E3&m 38 ~a )
8 84 38/43 3A ~6
e K3 &m 9 44 ~5
e KR4 &m 7 00 7/10 4 ~6
\_ R30~5 @&m 48 ~6 y
[ ]

I ' -
0 0

RRRRRRRA RN N iR

3 4 5 6 7 8 9 3 4 5 6 7 8 9
£3 @m )
£3 @m 78 AXH




10%
8 O
6 @0
4 O
2
0%

10®
8 0o
6 O
4 O
2 O
0%

3 0cm

3 0Ocm~

4 Ocm~

5 Ocm~

£

3 0cm

30cm~ 4 0cm~ 5 0cm~

O

£4 @m

2

=

X

gt
St




C&R
10%
8 [ ]
C
6 @0
]
4 Mo R:
2 W O
0%
3 0cm 3 0cm~ 4 0cm~ 5 0cm~
R
(o 603 38§63 )
e £ K =
£3 &m 5 58 £3 &m 6 67 £4 @m 7 00
552 X =2 I\ 9 50 1920
\_ ),

TEL 0287-98-2888

FAX 0287-98-2885




